N

= ad

ZHANG GU

ZW &5 Z =X

ZW series Roots type blower

=3 &S/
FEaRREg)
Product Introduction

ZW B =HZRSZNNRLFREEEENIRIDBIRATES HEE TRAEM £, NAARAT 50 ZE89R1T
MENERE, BITRIT. FIRESIRAT R, % miEEEtee D52 TIRKRINENRS, REA&ESMENTLA™m.
ZW Series Three-Lobe Roots type blowers, which were based on the technology of U.S.A blowers, are the latest products of Shandong

Zhanggiu Blower CO.,LTD, and have company’s 50-plus years of design and manufacturing experience. ZW blowers with higher capacity and

lower cost, have advanced performance and structure features.

s R

Product Features

o WEE, KU, BEER, BWRE, EREFSE

o RESHE, BEUEI, BFUERARSENE

o R, BRIEIT8.4kPa RREIREIK

o MECRASCHEN, =M, ERFIREREE

o XAFEWADEARLSER, TREKE, EUUR, E7FR, BER, BES, Sk

o TIRIEAFPEXEEARNRES, EXYIESEESSIBA) AT

® High efficiency, small size, light weight, compact structure, convenient operation and maintenance

® Flow sub-file encryption, extensive coverage, the user can choose the most appropriate models

® Air-cooled structure, single-stage pressure is up to 78.4kPa without cooling water

® |mpeller with advanced structure, clover leaf, the area utilization factor

® Use of precision hardened straight-tooth synchronous gears, keyless connection, positioning, smooth operation, low noise, high strength,
long life

® According to cus tomer’s requirements,sound enclosures are avilable,which can make the sound levels up to 85dB(A)

E/3: 9.8~78.4 kPa
P& 0.22~59.21 m*/min
BHIAER: 0.18~71.59 kW

Pressure: 9.8 ~ 78.4 kPa
Flow: 0.22 ~ 59.21 m*/min
Shaft power: 0.18 ~ 71.59 kW

TgERiREE
Performance
table description

tREERE: X1, HOERR(SIEER), BFRERR, Ko, 5KE, hiFE, sk, MERRE, B8R
i, JREE, EAR, e
EEENE: FBAL, ISR, RS, MERS

Standard accessories: inlet silencer(with filter), pulleys,belts, belts guard, pressure relief valve assembly, base, pressure

TR
Ordering
instructions

gauge, anchor bolts,discharge silencer,check valve flexible joint

Optional accessories: motor, sound enclosure, vibration isolators, etc.

B[ H >

ZW F5 =M BRGNS RS R

Belt Drive ZW Series Three-Lobe Roots Type Blower Pressure Performance Date

o
= S 2
= =™
=
fe)
=™
<
=
<
S| S
o6
=
©n
<
& w| o [T [T o| o
a i S . - ol o) —| —
[re] B [rs) o~ = =
=] =
<
oy
=) oof o
= — [I) O = | ©
=] =] e | S| o =] ©
%' | < Il T 3| S| B 5
[Xel =] ©f —
Lo —| = ©| =
= ] > ef ™ ©o| —| & =
—f | e | 3| <F|
(2] () o] .o| 1o Lo [Exl BNE) BES) B Ee) REe)
= | e | = | | = =| =| | | - | - A B B e I = et
™ [f] 1o o] = [fe) ~| =] 3| =] =
=
= =l &
.&.&m N © O Lo —| | o ool ool o3| | O | ) | | 2| —| | o) T
vaq <o S ol — o o) = =] —| =] | © =+| <] 0| —| | | ~| | &S| ™
%",:f%. —| = | o3 N| 3| o3 | 3| B3| < e o3| < = B S| 3| B F| =] IS
= 5 = or] M¥e N ) | o] o N| o o3| o] a2 w| | o] —| a3 wof o =| =|
%B =3 o S N| © o = — N o] S| t—=| ¢ ©O| —] ©] ©f | O] =] | O] ©
EPDo* S| s —| = — =] a3 —| | ] ] o3 —| | & 3| = = S 3 =] S
B 5
=S & wf ]| «| s 1 I af ol L] o] o ] o] =] o] ] o] <] <] ] o] ] o] ] o] e
=8 =
-&%Q-m =] —| S| © | 2| ©| «© O| | 0| o @ =S| | o = =] =] =] B o ©| =| =F| o | v | O
~— éq | | )| © o) o N| © =] O] 3| 0| | S| 2| ©] | =] 2| | S| | | O] IO N | V| | ©
sS= = S| = =] = — = ) —| ) | i) 3] =) ] i 3| 3| ] i | S | | | S| = | ] =
=
- <
b & =| of o] = | o | = w| x| o] o] o] x| | —~| 9| of | | 2| | =] o =| | =| =| =| =
HS < || —| & O S| | = =] | = 0| | | | —=| | | | | ©V| | S| —=| | 0| | | =] ©
f\»;_‘ S| 3| S| — S| 3| —| = S| = = =) & S| = = 8] | 3] = S ) B S =] = ] B = S
oo
—
= B - — —| —=| o] w| vl | w| | | | e vy w| wl| 1| v
= = O el G ] o e ) | | = = 2] oo e = = ) G| e = S
E —| —| = —| & —| —| | = — Nf | &3 [aN] =N [t S| e S| e =
-
= =
EF e
=l = = | of =| w| = =| o| =| w| =| =| =] o o =| 2| =| | =| 2| =| =] = 2| =| »| =| v =| #| | 2| o
u P &S ©| ©o| o —| = S| N = oo | —| = ©f | | O o S| —| | S| | of F| | | S| 8| ©of 8| | of =
&= = s| sl s| <[ = B e I T I I S s I et I I e e IS e I e e I e e I e I
IS
&E n w| | =] »| = 2| —| 2] ] o o] v| | ©| oo| 2| | | w]| ©| x| v v ©| | ol | x| x| | | x| ©
O e < | = | o] o] © x| o| ©| =| @©| ©f| ©| —| | S| | S| =F| o| | o V| | S| =] —| o ©| o —=| —=| S| ©
?ﬂ\-E/ S| S| s S| = S| S| = = =] S| s = = =) & = = = @ S| 3| =] = i) 3] S| F] i B S | o
=2 2
I‘LO o | 2 | —~| =| —| =] —~| =] | =] | | —| o] o] & o] s ™| e | o
= = el T T T s S T e ] e ) e o = | | | e | = | =] = S
> =
Iil”-.;,‘?
T o 2| | | 2 =2 | o) 2| o 2| of =| wf =] 2| 2| 2| 2| =| =| =| = = = =| =| x| v =| 2| | =| o =| v =| =
2 o | S| = o o =| | = ©| o S| =| F| =] | =] 2| B o S| | =] = 2| = =| | B —=| S| =| | S| =| S| =| =&
=l & S| sl S| sl s = st sl = =) = = S| = = = = ] = = =] S ) s =S =] S ] 3 3] ] e S 3|
=
w | | | | o] =] =] 2| = x| e = 2| of a2 oof S| 2| 2| 2| =] of 2| oo 2| =] e x| = | 2| of 2] ©of 2| &
G| 3| 2| o] D] | =] =] o] oo = Bf S| 2| S| S| =| =] ] N] o] S| B =| =] o = of | = B N =| S| =] ™
S| S| sl S| S| = S| S| S| = <) ] S = < =] ) & = ] ) @] 3 o3| = ] ) 3 < | ) 3] 3 8] o
ol el el | o 2] ] =] o] | 2 —| o] o] | —| B ] | w| | | e | e
e I o e o Y ! I ! Y ! O ! I [N R Y et Y et Y P Y - Y ! I e ) ) Y I el s IR
&
= | 22| <l el el < o = e | = = 2 = el = el 2| 2 |2 = el e e 2| 2 o2
S| S| o | | e | | | ] =] | S| | D] o] | = = o of S| | F| =] S| S| P o] B V| B | S| —| S| 2
o3 S|l sl sl S| | st el S| s = = S| sl S| = = = s = = = =) a8 = =] = =] S ] =] S ) e
—
w | | 2| 9| ] =| o] o] =| o =| ]| o] o | v =| =| o | 9| o 9] =| =] o] =| o] 2| | v of 2| v| =] o
G| | F| o =] o V| B =| =| = = =| | =| | o] M| 2| =] | =| =| | | 2| | 2| B A S| o =| | =] ©
sl S| S| sl = = S| S| = = =] 8] S| =] = =] S S = S S | S 3| = S ) 3] < 8] i 3] < 8] S
R E R E R EEEE S 2l el e — el — wl | — ~[ e[ f | =[ef =ff
S| 3|3 S| S SsSf=S| — S| s — S| s — — = = = S ] S
<
A ol | oo | wf 2| =| 23| =| =2 | o] of of =] 2| 21| 2| 2| af | =| 2f 2| =| | 2| | =| 2| =] 2| | 2| v
2 s | = ] | 3| | B8] ] 2| =] =] 2| B F| B B 8| 2| | F| L8| =| R S| | o =| © 2| 3| ] of =] 1B
o | =| 2| = =| | | o o o| 2 o] =| ] 2| =| 2| =| =| o] o 2| =| =f | | o o | x| | | ©| | =]
L | | | =] oo =| | =| S| =| | S| 2| —=| F| of S| of | ©f S| | | @| =| =| S| —=| | | 3| =| S| | o =
sl S| st sl = = S| S| = = =] 8] = =] =) &) i | = S i | S F S @ B B < B8] i | < 8] <
® = o o o of o of of 2| of 2| o 2| o of o 2 of 2 of 2 o o o o o 2 o 2 o 2 o o o 2 o
N5 o F| o = S| 2| o = o =] S| S| S| S| 2| @ 2| g S| S| 2| B = 9 S| S| o S| o S| S = e =
&S« N = =] & | | | =] =] S| | 0| —| | | =] S| 2| —| 2| F| =] =| 2| —| 2| | =] 2| 2| S| | | =] ©
— | —] | D] ] — | | — ] | D) ] — | | —] | D] 3] — ] | — ] | D 2] — ] ] — ] ) 3] —~ ] ] —~] ] ™
@
- = = — — =
L(‘d‘c'; N S S ) I} =
O = 2] r [rd © © @
— I~ =Y [y [Ty © ©
3 N N e} 2e) 2] <F
== 8 ! i il J J J
= = = = = = =
=~ N N &N ~N &~

=
ILEE

Performance based on inlet air at standard temperature of 20°C, an ambient pressure of 101.325kPa

S
<
I

HOREREBERERNAS T (@ITES101.325kPa, B E20°C)f0# OS5

237 238

ZIREMA



239 240

EE
G Eu

o
=]
HAN

@,

£5ES

wiEEE

ZW Z5=HE e XA

ZW FR5 =M BRGNS RS HR

Belt Drive ZW Series Three-Lobe Roots Type Blower Vacuum Performance Data

Belt Drive ZW Series Three-Lobe Roots Type Blower Pressure Performance Date

THIXIFEM &

edSZE LOL JO 2inssald usiquie ue ‘D0z JO ainjesadwa) piepuels Je Jdie 19|Ul U0 Paseq 9dUBRWI0H

BY S OHGH0O.02E B ediS2e L0 LLAHRKE) L W\ M YD B EU IR
¥ TN EREREERA RN R R EEE R R R R 819 ¥ egel or9] ¢ [g6T | L8°9] ov0g
¥ GLlwps] oz w| cL | 68F| ¥rov| 66 [ vev| L9F[ 66 | 6Le| 68| ¥ | vae| 116| ¥ 697 €€c| 22 [65°T | 6L°G[ 0921
2 sg|orv| 6] g6 | s6¢| gze| ¥ osel she| ¥ soel 29¢] ¢ 09| 88¢| ¢ stz orv| o1 [Ser | L8| ovkT | Vo8 | 907-MZ
¥ selvee]| eve| ¥ veel s9¢| v [ vre|l 16| v | vLe| ere| € eeg| ¥ee| 22 | e6°r] cael ¢ [ €T | 10| 00€T
2 3 9| 1| € 9¢z| LLT] ¢ ozl 66 1] gz [ var]oze| ce | evt| eve] 1T [ 180 | 8872 0001
& 'L [vsa|w8e| g2 [cos|cov | cs | csv| vev| s | 0F|cry]| ¥ L5¢f 09F| ¥ el LLy| ¢ 82| ¥6°%| 22 [ 65T | 1€°6| 028
2 g6 | vy [eee|gs |oow|vae] v esel eLe| v grel ese| ¢ 99z 07| ¢ cze| ccv| gz [LeT] 097 0s0z
¥ GG [eLe|6se| ¥ geel sLg| ¥ L672| 96°C| ¢ 09| ¥ree| ¢ 3cg| 1ee]| 22 | e8| 8pe| oL | o1 98¢ 09L1 ves | g0z
v 2 Lzl coz| ¢ ovz| ece| ¢ viel el ee [ est] 8zl gz | 1er| cre] 11 [880 ] are] ospl
¥ 3 orz| 9sT| ¢ erg| Lt g | e8| a6 1| e | LT[ 60c| T [ oer]| 927G 1T | SL0 | €9°¢| 00€T
¥ g [ set|egtfee [ verfopr| et [ rer| st et [ 8ot pLr] 1T [1900 ] 112 0011
& 66 [ e6e| orel ¥ veel 9ce| ¥ srel ope| ¥ LLg| sse]| ¢ 8¢c| 89°¢| ¢ 00z| e8e| o1 [€ecT | 21%| ocee
2 volevefcee| ¥ 60c| 12| ¥ GLz| 98c| ¢ W] ooe|l € 90z| ¥rel gz [ ert| Lee|l o1 |01 | 287¢] 0%0z
2 v o|eec |81 ¥ €92| cog| ¢ eeg| sre| ¢ 70zl eeg| ge [ sar| hefl e | opr| c9c]| 1T [ 280 v62| 0921 veo | cosuz
¥ 3 61z 1s 1| gz [ser| 91| zz oLt ee [ovr|set1|etT [ 1e1]60c] 1T [a20] orz|osrt
2 ge [ ort|oet|ee |81 v o1 [ Ler]| 6T a1 | cor| err|sLof 290] €0z ooer
¥ 2z [ eet| 680l o1 [ 1er|vor| 1 [cor| st T [ #8of cer[sLofsyo] €91 oot
@ 2 w6e|weT| € €9z| soz| ¢ sez| cee| ¢ 10| seg] gz [ set]eve| ce | a1 19c] 1T [96°0] 88| 0zez
¥ ¢ |o9sc| veI| ¢ 1€°2] 69°1 90°2| 81| 22 | 187 1] ¢6°1 91| 60°c| ST | eeT| 1272| 1T | 280 | 8F°¢| 0502
2 cc | 961]9eT| e [ arr|eeT| e [ et est| T [rer[ 99| et [ trr| 8Lt T [890]( g0z o9t | N
¥ e | shor| 860 ¢r | oet| rrer| g [ err| ver| rr | v6of L6t GL0 | 6570 ¥9T| 08F1 V05| E0e-Az
2 ST [ e6ct| 120l o1 [ et asof 11 [ 260[260f 1T [a8ofort[scof osof LeT|ooer
¥ 1T [ e60] €90f 1°T ] o080f c2o]cLof 990 280f[cL0]6e0]| 11| 0011
% 3 Tcz| 8s1 86 1| 121z [#21] e8| ce [ 161 96T1] 2z | Le1] 8z 1T |80 [ cez|oose
3 2% | e8| LTT o1 oer| g || avrr| e | ser|eer| 1 [ gor| 91| 1T [ ¥9°0 | €6°T| 00¥2
% e 1| 80 61 | vrT[ 6670 ST [ 8670 TUT| T | 280f €z r|GL0 [6F°0 | 67T 0261 T —
2 STT| g0 g1 [oor] 8.0 1T | 680 060 T°T | 12°0] 201[GL°0]TP0| 82°T]09L1
¥ T | 080f sP0fGL0f 2970 85°0[GL0| 95°0] 69°0[GL°0]2e0 | G6°0] 0¥¥1
2 GL°0 | 8s0] 8erofgLo] 8vof oso] L0 | 2z0] 9L0] oger
& 3¢ | wer|gof e | et 660 ¢1 [ err| Lot e | ooT| wror| Tr [ 980 12°T[ G20 850 [ LT[ 0€82
3 ¢1 | st 990 ¢ [ wor| vLof 1T | 2eo] 180 1T [ 080 680 T°T | 69°0] 9670 GL70 | Gp0 | T1°T]| 00vg
& 1T | 28of spo| 171 [ 20| 950 1T | €9'0f €9°0]cL0[ €50 oL°0[GL0]we0| 98°0] 0L61 T —
2 tr | azof seofarof eoo] grofsro] vsof osofcro| ovo] L60[cL0]6z°0] €L0] 09L1
2 GL°0 [ oso| ¥2rofcro| errof teofcLo| 9e 0] 8e0fGL0|2z0 | ve0| 0FFI
2 GL0 [ 9c0] ozofsLo] ocof 2z0]gLo[s8r0] evof oser
2104 od e sP od e sP 0od e N od e sP od 7 sP od e Ny od 7 sP od e s
10301 ed6y- BT Th- BdG "6E- edE Ve~ By 65~ ediS Yo B9 61~ B8 "6~ il || @ W@M‘
2] (M) od JTemoJ J03Of pue (jY) B JIamod 3JeYS ‘(uTw/ u) SP MOTJ 39TU W | o QM_D_K
LG (W) OdsTAI4RIMLAT (W) TSkl (uru/u) SOTFURLI LY 2%
edS2E 101 40 ainssaad jusiquie ue 'D,0z Jo ainjesodwa) plepuels Je Jle 19|ul U0 Paseq 9OUBWIOMSd
BULSOHEHO,02E B ed’92€ L0 LG N SV B P EZ BV OH
¥ 06 [6S°TL|8L€S| G2 |20°19| €L°¥S| <SS [29°0S| 6¥Gs| SF | 6°6€ | 6G°95| L& [80°62| G9°L8| ¢¢ | 18781 12 65| 0891
2 ¢l [es w9 8L gr| cL [86¥s|eL 6] oo [szcsv|evos| o [Lvee| ec TS| oe [8L°Sz| 99 2| ¢ 8T [€6 ST | Tz FS| ogcT
¥ 6L [srros|sozr| o5 [ev-Lv|eoer] ov [vro6c|6Ler] L [ezoc|6svr| o¢ [s2-1e|g6ar] o1 [ao-er| s 2y| sLen
2 6 [9eTs|86°Le[ G [Vpep| e6°8€[ G [6e'Ge| 69°6E] O [L6°L2| 6L°OV[ 2 [6L°6I| S8°TV] ST [TOZL| TP €] 042 | oo | o0\
¥ o6 [or-ov|srvel o [8rec|er-se] L& [Lcze|68cel oc [6L¥z|66°9¢] 2z [e9-2r]|cose] or [ov-or| 19-6¢ef oLt
2 o [es'1v| 86762] S [ecce| e6-0e] L& [62°8c] 69 1€[ 0 [92727 | 62°ce| G 81 [e8-sr| g8eel Ir | 9¢76 [ ¥ se] 0901
¥ L6 [1eve|soeg| Le [eLsz|eove| oe [ezee| 6L ¥ 2z [esLi|e68ge| o1 [97er [ 69z 11 [¥zL | 16°8¢] 088
2 L6 [ 69°1€] 8661[ 0¢ | L9°92] €602 o¢ [ 99°1g| 69 Tz ¢ 81 | ¥9 91 62722 S [€9°Tr[ ¢8€e| ¢ L [ 19°9 [ T¥ 3| 008
[ o6 [socv| sv-oe] or | 81-8el 66°9¢] L& |[scre] gsLel oe | Leve| srse| @z | Lv-L1| €678e[ o1 [9g o[ 16 °6€] 09LT
¥ oc [2e1v| 9cee] ov [ L6 wel 9see] L& [ssse| av e[ o [ 8172g[ 90°se] 2z [e6Lcr| 18°¢e[ or [ 6€76 [ 62°9¢] 091
¥ ov [ es9e] ge6e| L& |ar1e[ cooe] o¢ [ 9ecg| 8s-oel oc | 6S 61| gz re| G781 [ zser| L6 1e[ 1T | 9078 [ ¥6 ze| oLvT
¥ ov [ veee] 6€°92] 26 [ 60782 06°9g] o¢ [ esce| 9vLe| e [ Lo Li[60°8g] o1 [ reer| ¢8'8z[ T [ 90°L [ 2862 ovel | vooz |verli-mz
v 16 [ 18°8g| 1e72g] o |z ve| zsza| o¢ [ €961 8e-ez| a8t | vocr| 10we| ot [av-or| 9L we| &L | 98¢ [ vLcg] oLt
2 0¢ [9seg] qLL1] oe [20°0z] 9z°81] 2z [sr-or| z8-8r[ <t [eezr[ sr6r| 1T [ 6v8[0z°02] ¢4 [¥9°F [ 81 13| 086
v ce | 1e761| Lvet| 81 [ ovot| g6°et| <1 |6z er| 6v vI[ or | sr-or| rroer| 1T | 0°2]escr[ ¢ [96°¢ [ L2791 008
2 o6 [oz2v]eere| cs [26 19 89722 ov [cc9¢] 90°82[ L& [ oz 1e] 2 83 o¢ [ 98°53[ 26°82] o€ [ 26 0z] ¥¥ 63| 681 [ 8T GI[ 00e] TT [€8°6 [ €8°0¢[ 091
¥ 6s [orev (16772 v | 1e8e| Lzge| L& | 9zee| v9ga| L& | Gesz| so9z| o | Lees| 0¢-9z| @z | avsifzolg| o1 [ Lver] 29Le| 1T | ac8 | v 8g| 091
7 oy [v9se|v6 12| oF [ L17e] 6272 L& [o0.°63] L922] o¢ [ ¥z-ge| 80eg] oe [ 2.°07| €see ¢ 81 [ 1e9r] v va[ ST [ w8 °TI[ 9 Fe| 1T [8eL [ ¥¥ Gg| oLFI
¥ sy [16¥ve(er 61| L& | ¥8-0g| 62761 0¢ | LL°9z] 21703 oe | 0L°zz| 66°0z] e | €9°81| G0 'Tg| 68T | 4G ¥I| L6°Ta| ST [ osor] 61°za| G2 | €¥°9 | 66 Ga| OVET | VOST | 60L-MZ
¥ 1€ [srroe]Lz ot oc [09°9z] €9-91] o¢ [ coez| 10°L1[ @z [ 6v 61| €v L1] G 8T [ ¥6 1| 68°21] o1 [6€ et v 81[ 11 | ¥8°8[€0'6r] G2 [8z°G [ €876I[ 0LIT
¥ 0¢ [20°6z]89zr| o¢ |60°ze| voet| @z | rr6T| ever| 681 | v1-or| e8ver| o1 [or-er| 1evr| <1 [8ror| ¥8 L[ TT | oz L|9ver] ¢¢ [€2F | Lz 91| 086
i 0¢ [6r°0z] 098] cz oL 21| ve 6] c81 [ecar] 066 &1 [o06°2r| osor] ot [sr-or|6°01] 1T [ co8[erTr| 6L [ goc[erzr] ¥ [e61°¢€ | €6 008
¥ 16 [ 9e6z| vezg| o | 10°¢e| a6°za| o¢ [ 99°0a| e¢ea| 681 | og o1 08ca| o1 [g6°11| geve| 1T | 09°L| 20°Sz] 0g8T
¥ 16 [6v6z[v1 61| 0 [ ¥9 gzl os61] o¢ |[8L°Te[ L8761 cz [ €6 L1| 62°0a] ¢ 8T | 20 °¥1[ SL0z] ST [Tz 01| 1€ T3] L [ 9¢°9 | €0 za| 0¥9T
¥ 0¢ [Lo9z|ssor| oe [v9ze| 68°9t] 2z [ r1eer| Lz Lif g8t [LLst[ 89 2t] ot [wegr|crsr| 11 [ 16°8[0L°81] 'L [Lv°¢ | 2v 6I] 09%1
2 0¢ [voez sz v1| oe [ €0-0z| 8s¥I| @z [ €6°9r[ G6 wi[ 68T [ 287€r[ 9esr| o1 [r1s-or[esqr[ Tr [ 9LL[se9t| ¢ [ oL %[ o1 LI[ 00€T | VoSt |vo19-mZ
¥ 3¢ [6zer|ae 1| e [oLotf sotr| ¢ 81 [ervrfcoar| st [estiforar] 11 [ v68[e6ar| ¢ 2 | seofsyer] ¢'¢ [227¢ |0z ¥I[ 0011
2 %6 [60°21[ 656 [ G8T [ 6L FI[ ¥6°6] o1 [sv-ar| 1eor| or [sr-orfcz-or] 11 [ 28°2[e6r 11| ¢ 2 [ sa¢[v2T1] ¥ [9z°€ | 9v 21| 086
¥ st wveer] ooL| ot [9ozr| veL| st [sror] 22| 10 [oes| rrs| ¢ [ b9 2s8[ ge [ e[ 1r6] € [99C | 286 008
2 0¢ [s80z|ev 11| oo [9v8T[c0 T | ¢ 8T [ 20°9T| 92 21| G 8T | 89 €I| 8% 1| ST [ 6c 11| 2L21| 11 | o6°8[o00er] ¢ | 169 zeer] 66 |21 ¥ |G €1 050z
¥ 2c |18 1] 2876 [ g8t [vL-sT[900r| ¢ 81 [ 29°¢r| 6z 01| or [es trf1s-or] 11 | 2s6|oLor] 10 [ cvLfeotr] gL | sec|oeTI| ¥ 0¢°¢ | 8211 09L1
vo[esr[esyr[voL| ot [s8ar|esL| e [wvrnr] vo8| 11 [ ev6| 9z 11 [ 2z2[ oc8f ¢2 [ 109[ s28] c¢ [ 1ew| or6] ¢ 09| €56 0SFT | veeT | v80S-Z
¥ 61 [Lozr{es s | ot [soor|zo9| 11 [ ¥e6| czof 10 [ es L] w9l cL | w989l cs |ooc|oeo] ¥ 65¢| 602 ¢ [Lre] 1L°L] o0zt
¥ 11 [or6 ey | 10 Joosg[er¥ | 11 [av2]eow|[ cL [e6z9 #8F[cL [Fre[8oc]ces [8elces] ¥ €82 99°¢ 22 [L9T ] 809[ 086
vo[gsr(socr| o092 a1 [seer|es | ot [eotif ers| 11 [ 966 18] 10 [ 9z 8] c98| ¢L [ 9c9] 988 ¢¢ | 98F| s16] ¥ 91°¢| 16°6] 0202
¥ ST [oegr]Leo| ot Jertr[esro] 11 [966] 069] 1T [ 6v8] 602 11 [ 102 oe2] c L [vss]ess|ce [ 20%[o082] € [6572][ 918091
¥ 61 [esor{se v | 11 [ges[vra| 11 [ors| gec| 10 | 689 oss| gL | L9e]| LGl e || ves]| v Gzel 129 ¢ [eoz| L59fosvT | voor | 905-0Z
¥ I EEEE R EA S EREE A E EE R I B 09°¢l 97| ¢ 09°z] €6%[ 22 [ 65 T[ 62°G[ 0021
v I EEEEEEE R EE B R R EEEEPEEEE 6| ese| € erg| 18| o1 [1eT | 91°F| 086
afog | od [ ®T s [ od [ ®1 sB of [ ®1 s [ od [ ®1 sD of [ ®1 s [ od [ ®1 sD of [ ®1 sy | od | ®l sd
0304 ey ‘8L BJM9 89 B8 "8S BI6Y BT "6E Bl 60 Bd49 6T B8 6 udr | a10g | [oPOK
b2 () Od IomoJ IOJO[ pue (J¥) BT IomOJ 3jeyS ‘(UTu/ ) SP MO 3o[ul WA | SO | &R
14 (W) Odskelfr 14 B PRI 2T (W01 Pskelfrlly *(urw/ ) SOF W IIRGH A [T




241242

EE
G Eu

o
=]
HAN

@,

WwEE

ZW Z5=HE e XN,

Belt Drive ZW Series Three-Lobe Roots Type Blower Vacuum Performance Data

THIXIFEM &

edd§2E 101 $0 ainssald Juaiquie ue "D,0z 4O ainjesadwia) pJepuels je Jie 33|ul UO pPaseq 9dUBWI0S]
BYLSOHEHO.02EB ed92e L0 L LR FX G SV BB BT B OH

14 GL v1es| 6V cv| SS €69V | ¢l '¥v¥ | <9 V6 ¢ 62 S| <v 8G "LE ov 9v | L€ voee| 11°Ly| LE €082 | L1°8%| o€ GY ¥g| ¥8 8V | S 8T | I1°GI| 68°0S 0LVT v00z | 91817
i LE 0% 62| 0€ 92 | 0€ €992 | LV 92| o€ 62 €2 | 89°LC| 0F 8G°0% | 62 82| 4% GT LT | S€°6Z|S'8T| €9°FI| 20 0€| TT g9 '8 L0 °2¢ 086
14 L€ crIe| v6-°L2| L€ ¥2 82| €9°82 | 0¢ 9¢°¢g | LZ2°62| 0O€ Lvge | L8762 0€ 65 61| SV 0¢| 22 [L°9T| 20°1€|S 81| 28 €| 65 1€| IT 90 '8 28°2¢ | 0L¥1 vooz | vatz-nz
9 0¢ 20°02 | 81 91| 22 O 8T | 9891 | 22 81 91 0S LT |G 81| SZ°¥I | OI '8I| SI €¢I | 89 °8I | ST IV 0L | SZ2 61| 1T 68| ¢8°6L| S°L | V9V 90 ‘1 086
14 0¢ V262 | S€ 12| 0¢ 10°€2| ¢6°1g | 0¢ LL°02 G¥ 'ge| ¢a S 81 7622 | S 81 TE9T| TV '€C|S'8T| LOVI| 88°€2| ST V8IT| Ve VE| 11 8¢ L | 2514 0LVT vost | 6021z
@ G'8T| ¥I'9T| 80 GI|S'8T| S9¥I| 99 2T | ST 9T €T 02 €T | ST L9°TT TL°€T| ST 8T 0T | 02 ¥I| TIT 69°8 | L9FI| TT 02°L| ST'ST|S°S | €2 ¥ LT 9T 086
14 (44 12 °61 | €L°ST| 22 67 LT ¥2 91 |S 8T 8L°GT TL9T [S°8T| 90 %I ST LT ST Ve g1 | 89 °LT| SI 00 8T | TIT 168 | 2V '81| §°L €€ 61 09¥%T VOST [ VOT9-MZ
iZ IT LE°6 8CL| TIT (4] 8G L IT L9°L 98 'L TT €879 cI'8 | S°L 86 °G LE'8 | G°L c9'8|6°S 82 'V L8°8 € 65 'C oV '6 OPPT | VSZT [V80S-MZ
14 11 G879 08 % |S°L| ¥2'9 G609 gL v9°¢ 82°¢ | 9L 09 6V | §°¢9 ¥y 0L°¢ |99 06 "¢ 14 €2 °¢ 0T "9 € €02 259 OFPT | VOOT | 90S-MZ
iZ G'g Vv L6°C G'g G6 ¢ 22 °¢ iz 0§ ¢ Gy ¢ i G0 "¢ L9°¢ € 09 2 88 °¢ € Gl ¢ oLV | ST | SC'T LSV (tiga! Y08 | 90v-MZ
14 14 29°¢C 781 € €€ 0 20°c € 20°¢ 022 |12°¢C €LT L8°C 12T eV T VS| 171 €870 162 00¥T VG9 90€-MZ
14 i 60 2 GE T (A4 98 T 0S T (A4 29°1 69 T ¢ 68 °T 6L°T ST 91T €6°T | OT'T| 690 Ve e 00%T Ye9 | s0e-MZ
v 2zl wr | 980 o0sTI| v2 1| 6670 | 0S| LOTL [ 2T [ TTT| 16°0| S2TI | SL70l 2670 2s°1 [ oovl [ VOS | €oe-MZ
atoq | od e sy | od Al sY od e sH od e sH od e sH od e sY od La| sH od Ll sY
OO BI6Y— B Ti— BNG 65— BIE V- BTV 65— BIG Vo B9 61— B8 6 udr | o.10g WMW:
b2 () Od 1oMOJ IOIO pue () BT JoMOd 3Jeys ‘(Uurur/ Q) sP MO[4 I9[Uf | Hn W.MHMW
e (W) O A1 T TRAE Y (W) RISl © (uru/ ) SOTEWE I FEL o Fi( 35 4 4
elje aduewliolad wnnoe/ Jamo|g ®Q>._. S]00Y 2(07-9aJy] salles N\Z ©AlQ 103l1g
FERESERE ISR A FEL K H= 432 MZ
ed)see’ Lol Jo ainssaid jusiqwe ue ‘UoON jo w.:,:.m‘_wQEwu. pJepueis le Jie }9|ul UO paseq aduew.o}iad
B S ORGHO.02Z/ B edXS2E L0 L LLT FXF7) L SV Moy B EFE B W O
14 06 GLTL 98 T¥ GL 0S8 19 VLGV | GL V1°2s 6991V | <S¢ V6 eV | 9V LV | LE GG 8% 0¢ Sy Vel 19°6V(S8T | TT°GT| LI'IS 0LVT v00z | 9181z
9 GG | 81 'S¥% 7092 | SV €L '8¢ 692 | L€ 99 °¢e | L8°L2| 0F 2992 | €982 0¢ €L°6C S°8T| €9 °FT| 6L°0€| TT G9 '8 Gg ¢ 086
14 Gg 99 gV | <20°62 | S¥ 68 "9¢ ¢S 62| LE crIe 20°0¢| o€ 9¢ G2 | 8% °0€| 0O€ CTIE|S 81| C8ET| L67IE| IT 90 '8 6 'cE 0LVT v00z | Va1 21z
9 LE 0L°LZ| VZ LT | O€ 98°¢g | GLLT| 0€ 20°02 | 92°81| ¢¢ 8T°9T| 28 81| ST SY 61| TT 67V 8| 02°02| S°L | V9V 8T '1¢ 086
14 SV | ¥9°8€ | ¥6 12 | SV LTVE| 62728 | L& 0L°62 L9722 | 0¢€ ¥¢'sa | 80°€g| 0¢€ LL70Z| €S°€C(S 8T | T€ 9T | VO '¥&G| ST ¥8IT| S9°¥%a| 1T 8¢ L ¥V ez | 0L¥T voet | 601z
9 0¢ | 90°92 | 89 ¢l | 0¢€ 80°¢g| VO°€l | 22 11°61 €V €T |G 81| €191 | §8°€l| SI GL'€T| T€ ¥I| ST 8L°0T| ¥P8 FI| TI 02°L| 9V ST S°S | €2 ¥ L2 91 086
14 LE 1662 (82 9T 0¢ 80 92 1691 0¢ V922 6891 | 22 12 61 L2°L1]6°8T 8L°GT| 89°LT| ST ST'8T| TIT 168 | 0L°8T| §°L LV S ov 61 09¥T VOST | VOT9-MZ
i G 8T | 9F VT 16 °L ST 9L 21 08 L ST L0°TT 708 11 LE°6 92 '8 1T IS 058 19°L 86 'S 8L°8 ¢SS 82V 0T 6 € 6S ¢ €5 °6 OFPT | VS2T | V80S-MZ
14 ST 9% 01 €61 It 92 6 60 ¢ It G0 '8 929 IT G879 Gy | 9L ¥9°¢ 99°¢ | §°¢9 vy 68 °¢ 14 €2 ¢ 919 € €0°¢C 259 o¥vI VOOT | 90S-MZ
i G°L G9 ‘9 2r°e |G°L GL°S Iee|ss G8 ¥ 0S¢ S°S G6 '€ oL i4 G0 "¢ 96 ¢ € G612 GV |ST GZ 1 297 ovvT Y08 907~
¥ §°g 8¢V LL°T |68 6L°¢€ 261 14 0Z°¢ L0°2 14 092 ve e € 002 ev'c|2a 171 G9C| 11 2870 v6°2 00vT Ye9 | 90€-MZ
14 14 20 °¢ ey 1 @ G5 ¢ GS T @ 60 2 69°1 | 22 29°1 81 [S°T 91 T €02 | I°T|69°0 L3¢ 00V 1 Ye9 | s0e-MZ
14 € 92 6L°0 26T 060 86T €0T | ST Vel LTT | T°T 16 0 €e T [SL°0 GG 1T 00¥%T Yos €0E-MNZ
a1od | od e sy | od E sY od Ea sH e sH od e sH od Cal SO od Eal st od B0
LOTEI edMy ‘8L ©d¥9 "89 Bd¥8 "89 6l Bdg 6€ ey "62 Bdd9 61 wdzx AR HMrusz
b2 (M) Od ToMOq JIO3Oy pue (N¥) BT JIoMOq 3JeysS ' (Uru/ ) SP MOTJ 39[u] | @Mw;,ﬁ
1 (D) Ods 14 B LT (W) PTsepy * (UTU/ ) SOFFUR I FOH L (/30 45
elje @duew.lollad alnssald JoMo|g ®Q>._. S]100Y 20T -ealy] SsalleS AZ DAl J 193llg
RIF ST EZHEINNEL S =4 MZ
ed)SZE L0 4O ainssaud Jusiquie ue ‘D,0Z JO ainjesadwal pJepuels e Jie }9|ul U0 Paseq 9dUeWo)ldd
BYLSOWEHO.0¢EE ed>S2E L0 LA EXEs) L Y\ B Y BB BV O
v cL [z0°19( ecos| s | c6os{orzs| o5 [z9°0s| cees| s | scoov| vvovs| sv | ev6e | varss| v | seog| 1z79g| Le [80°6z| 88°95| 2z |18°81| 68| 0891
2 Gl [86°%S| es | o& [ w6os[or k| o5 |8z e[ cesy| oS | 8¢ 1H| vvoev| Sv [Lvse| vz 0S| L& [ €z ae| 1o 1S 0c [8L°Sa| 88°1S| G 8T [€6°GT| €6 €S| 0551
v o5 [cvov|esse| s [ 12wv|ovov| ov [veee| o tv| sv | Lzse| viav| L& [ezoe| veer| oe [ 61-Lg[ 1s | o [cLoTa|srcr| ST |zo°er| €z Lv| sLel
2 s [vwev]eLve] v | 18°6e[9e9¢| Sb [6€°SE[ €S L€[ L€ [ LT'GE[V9°8€] 06 [1G°Lg| VW 6E] 0t | VAVa[ TV OV 22 [6L°6T[ 80 TV ST |TOGI| ET €] 0221 | oo | oo
v oy |sv6c| e6°0e] sv |ocog[os e | Le [lzze| cLee| L | 268z v8ve| of [6Lvz| vose| oe | vo'ze| 19°9¢] cz |€9°LT| 8z e[ ST |9v 01| €€ 6| OLT1
2 16 | 6eze[9e8z| L& |6L°8a| €S 6a| oe | 26°Ge[ v90¢| 0 |92 Ga | ¥v1e| @z | 8L6I| 1vae| €8T |28 GT[ 80°€e| 1T | 92°6 | €1 & 0901
v 0c | 2r9z|ov 1z oe |czcz| €9 za] og | o0s0z| vi€a| cz |€8LT| ¥S¥e| G ST | GLUST| 16°Ga| ST | 972l | 819z 11 |v2L | €z 8g| 088
02 | 99°Tc| S61] @z | G161 99°0a] 2z | ¥9 91| 9v Ta| 8T | ¥1 ¥1| €vzg| ST | €9 11| 01 €a| 2 | 1979 | I Sg| 008
v oy | sUsc| 16°ve| ov | e2ve| 66°se| L& | sz 1e| czog| L¢ | 28la| €879¢| L& | L¢ve| 1w Lel 0f | @670z 86°Le| ca | LvLT] €S 78e| ST |95 01| 64 °6€[ 09L1
v oy | L6°ve| sLo1e| L€ [ LLie| Lvee| Le [ 8esg[ 11ee| oc |8 Sa| 1L7ee| oe [ 81°2z| 62 Ve| az | 66 81[ 98 ve| @z | 6L °ST| €v e[ ST | 666 | 99 9| 0€91
v L6 |arte] ¥6°2a| L6 | vosg| €9°sa| o¢ | 9¢76q| La6a| oc | Lvgo| L8763 o¢ | 6s61| svooel @z | 1791 co1e| <81 [ @8 er] 6G 16| 11 | 9078 | @8 ze| oL¥1
v L6 | 6082 28°¥z| oe |9y e[ 16°Ga| oe | €8z 19z o0& | 0z 02| €L 9z 2z | 28 L1 € L[ 8T | ¥6 1| 06 Lz ST | 1€ @I| Lv8a| 1T | 90°L | 02°62| OVET | Y00z |Vz1L-4Z
v 0¢ | oz ¥a| vL0z] oe | e6°1a| ev1a| o¢ | €961 90°aa| az | ¥e L1 2972g| S 81 | v0SI| Gz ea| S1 | sLei| 18veg| <1 | gvoo1] sewg| S | 98°S | 29 Sa| oLt
v 0¢ | 20°0z| 8T°91| ¢z | o1 'ST| 98791 @z | 81 91| 05 LT[ G 8T | G2 ¥I| 01 81| ST | ¢ aI| 89 81| ST | 1v 01| Gz 61| 11 | 6V 8| a8 61| G2 | 9% | 90 Ta| 086
v [ g8 [oror] 1611|581 [ e8°v1| 8¢l St | 6aer| taer| st [ wLorrfoser| st [sr-orf 9| 11 | e9g| 16 vI| 11 [ 02| 9vst] ¢ [96°¢ | ¢9°91] 008
2 16 |0z °Te[ v2°9z| L€ | 6¢8a| 1€ 2] o€ | 98°Ge| ¥8Lz[ 0 |07 €z| €t 8z 0¢ | ¢S 0a| 18°82] @z | 98 LI| Lz 62| G 8T | ST GI| €262 1T | €8°6 | €L 0€| 09LT
v L6 | eesa] eeve| oe | <8-sz| 06¥a| o¢ | seeq| aveg| o | 06°0a] 265z @z | v 8| 689z 681 [ 61| 689z <1 | Lver| zeLa| 11 [ass | 1¢ 8| 0291
Z 05 |2 Sa| 6&Tg| 0€ | 10°€a| 26 Ta| 0€ | 227°02| S aa| ac | #S 8T ¥6 2g| S 8T | 16 91| 17 €a| G 81 | 20 71| 88°¢a| SU | #8 11| ¥e g 1T | 8¢°L | #€ Sa| oL¥T
v 0¢ | o.za| ¥881] 0c | 89°0a| av 61| 2z | €9°81| S6°6I| 8T | 19°91] ¥ -0g| S 8T | L6 V1| €6°0a] ST | ¥S 21| Ov Tg| 1 [0S 01| 28°1g] G2 | €v'9 | 68 Ga| ovel | vosT | 60L-MZ
iz cc | 6v 61| 89°CT| @z | aL LT[ GG 91| 8T | #6 ST 62°91| G 8T | LT #I| 62 21| ST [ 6€ar| LT[ ST |29 01| ¥z 81| T[T | #8°8| 1L°8T] G'L | 8z°C | €L 6I[ 0LTT
Vo[ e8| erotr] 8oz g8t [<ovi| 99| st |crer|ozer| st |29 11| tzer] st [sr-orf oz wi| 11 | 69°8| 29 ¥I| 11 [ ozL| st ¢S |ezv | L1°91] 086
2 ST oL Tt ce6] ot [syor| 98°6[ 1T [ z6[9cor| 11 [ co8|esor] 11 | ¥89[aeTr| G2 [ a9c[os8Ti| ¥ [61°¢ |a8al 008
v 0¢ | 1075z| se 1z oc | €8°za| 68°12] oe | c9°0z| 9 za| az | sy 81| 08ze| ¢ 81 | 0¢ 91| €z €z| S8T [ €1 vi[ S9eg| <1 | g6°11] 207ve| 1T | 09°L| 86 ¥a| 0s81
2 02 | 6L°1c| ¥& 81| ca | 98°61| S8 81| @z | €6 L[ a& 6I| G '8T | 00 91| 92761] S 8T | L0 #I| 61 0] ST | ¥Ial| 19°0z] ST | Iz 01| €0°Tg| G2 | 9879 | ¥6 o] 0F9T
v 2¢ | 1z61| eLct| ez |6V LT[ vz 91| €81 | 8L°GT| 127°91| G'8T | 90 WI| ST 21| ST | ve 21| 85 21| ST | 29°01[ 0081 11 | 16°8| av 81| 'L | 2V'¢ | €& 61| 09¥1
2 %6 | €6°91] 171 68T | 0% S| a6 cI| G 8T | 28 °¢1| 66 71| GI | ve al| ¥8 1| ST | 18°01] 92 °SI| 1T | 826|89GI[ T[T | 92°L[ 01 9T] S°G | 0% ] 10°ZT[ 00€T | VST | vO19-#Z
Vo[ ¢8T | et vi|esor| < |28al| co 11| ST | eSTr| 6v T1| 1 | vz o1 ¥6 11| 11 | v6'8| 82l| 11 | ¢9'L|8Lal| ¢4 | G€ 9]0z €l &' | LL°€ | IT V1| 00T
2 Sl [y oI 8.8 ST [eeT1| 626 ST |8I01] 9276 1T | c06[0z 01| 1T | 28 L]¢€9or| G2 [ 2L 9GS0t 62 | 26°G[ Ly 11| ¥ |92¢€|LeaI| 086
v 1T | ve'6| L9°9] 11 | oe8| viL| 11 | 92| 8SL] 6L | 1wo| 108 SL | 2vs| avs|GS | es¥| ¥88] € |92 | €L6] 008
v | 68T | 69°€l| LGTI| ST |6V at| 28 11| SI | 62 11| ST al| ST | Or oI tval| 11 | 06'8[ 99721 1T | 122 167ar] G2 | 169[9r€l| ¢ |l ¥ [69°¢€l| 080a
v ST [09°TT] 19°6] ST |9s0r| 166 1T | 26| 81°01] 11 | 6v 8| Sv01] 1T | Sh-.|oL0T] G2 | 1+°9[G6°01] G2 | 8|61 11] ¥ | 0c'€| €L T1| 09L1
2 1T | ev6| cez| 11 [ 868[ 6o L] 1T [aL2| e62| 11 | 289[ 618 G2 | 109] ww8] cZ [9rG| 698] GG [ 1ev| v68| ¢ | 09| v 6] 0SHT | vear |vsos-iz
v T0 | 82| eS| 11 | arL|ese| e | WO 119 6L | 12°G| L9 SS | 66%| 99| G | 62| L89| ¥ | 6S€| al'L| € |12 99°L] 002l
2 L | 1LS| e v GL | viS| 1ew| 6 |95V V| GG | 86€| 0S| ¥ | el 92S| v | 82| 0SC| ca | L9°T | 20°9[ 086
v 11 (96685 L] 10 [116[982] 11 [ 9z8| trg| 10 [ w2 ves|sL [osofosslcr | 1Lg]s8Ls|ss |[98%] o006 ¥ |9r¢| Ly6]og0z
2 TT | 6V'8 629 1T [SLL[SS9| 11 | 102] 089 GL [8c9| coZ| c2 | vec| vaL| oS [08S¥H| Sv2| SC | 20¥| 9L € |66z 118|091
v 11 {689 oLv| L | 89| 6% L | 296 1as| oL | 20| wwe]cs [ov¥|coc]ee [cose|oss| v [gzel209] ¢ [€0a| €5 9]oskt | voor | 90s-4z
[z ¢, [trefsoe|ge [ 19F[e6elcs [ nw|srv| v [o09e| 6% ¥ [ore[ssH[ ¢ [09c|62%]| cae | 65T[ 962G 0021
v ¢ [stv|osz|ss [ Leelosa] v |[oee|coe| v [¢e6a| vee] ¢ |vsa| cve| € | erz| 29€ c1 [1e1] alv| 086
ofog | od [ BT [ sb [od [T [ sb [ od [e1 [ sh [ oa [T [ sb [ od [ eT [ sb [ oa [ eT [ sb [ od [ eT [ sb [ oa [ ®T [ sb
1070} N el V- eQIg 68— BIE - ed} 65— BIG Tg- ed9 61— eqIg 6- udx | exog | [apoj
i (W) ©Od Tomod IOIO] PUE () BT IoMod 1JRYS *(UTW/ ) S AOT 1OTUu[ W | SO | &R
14 (W) O (1 P DRLEY () BTskelyrth “ (UTw/ W) SOTFUR I JRLEH | B L B0 %




Y. = g%
A S FHANG Cu 243 244

ZW 5 =M EXEMHERE{E dB(A) ZW F5 =T RN ERHENIMNEZZRTE

Z\W Series Three-Lobe Roots Type Blower Noise Level (IEE]EE)

Belt Drive ZW Series Three-Lobe Roots Type Blower Packages Outline Drawing

o ZW-202 AHLEE 75 i 2 2000 : :
' (Pressure Application)
= %0.00 1 | = 5.0
; 85.00 I i ?
8 { 3 so.00
#F 5000 '/’4‘//“/ b=
) . ' b wﬁ.s 196 204 392 45 588 686 T84 e e R e =
9.8 19.6 :7' l-: s iii;“:: 49 = THEAP (kPa)
— 1970r/min lﬂlﬂ&t’l fk\i ]— 2830r/min —— 980r/min—— 1450r/min— 2030r/min i&/‘j\‘?ﬁﬁg%
I Inlet Silencer A AﬁlEMﬂ%EI
) ~ Relief V.
_— ZW-204 AL 4 ll 25 i ZW-S0BA A HLIR 4 i £ £ L L ~~ G
55, 00 | | Motor 160 | |, 84.5 T
= 50.00 I/ /)
N e ettt | | [N #40— Sdelintetlt /| [ [N# nlet fressute Gauge
2 = Inled . e —
& 50.00 ! —
i \ b
5. ) - e
DU-J..\‘ 19. 6 :5}.1 3 1.2 T 58.8 P/ T N S| ﬁFLL
— 2500r/ain™ ¥ 500 i i o .,le‘ 1l Discharge
i o
55,00 i1t |
90,00 ‘=1|_H - I’_l
% 85, 00 D ﬁ
:;ao.oc o7 G
- H-14 185 115
9.8 108 4 W2 o s8 e 9.8 196 204 W2 4 88 686 300
THE AP {kPa) THEAP (kPa)
— 1100e/nin B FedHER, — 23000 /nin —— 00r/nin —— 1460r min — 1850 /ain ! 15
Fmax 2
. ZW-305 /4 HLIG: 74 il £ — " ZW-709 AL LR 74 i £ : 4-M12%250 /
) 8 aml | | MR
2 Anchor Bolt
58 M0 Beesmioool EE S “Tos 16 m4 w2 4 ms s 784
100/t S780e e 2320/utn e e AN ORAERY o b SRV TR LA
. . Anchor Bolt Hole Arrangement Diagram
— HEAU LR HEACITE 4 R Al
ZW-306 14, LI P 2l o ZW-712A Sl LB 7 il 2 Outlet Flange Size Outlet Flange Size 1
il 7W-202 7W-204 mm _ _
" 2125 L E}
g [ [
5 Rell/4
9.8 19.6 29.4 ;.2 T 58.8 | |
THE AP (kPal
e 1100/ min = 17601,/ min 2320r/min — 800/ min 1170x /min - 16300/ min
e m-— i
EQS H
— ZW-406 [ HLIE: 74 i £ 11000 ZW-816 4 HLI: 54 il £ 185
a 85.00
= e0.00
Z
. 00
9.8 19.6 20.4 38,2 49 58.8 63.6
FHEAP (kP
— 1000+ /min - 20408 /min

A 15 MR (kg)  CREHHLD
Fgl—gv@}r vog A B C D E |Fmax| G |init Weight (Vithout Motor) Kg

i EAREEEEERRGB/T 2888 (NWIAIZReXHURENETTE) MSHIEEE ZW-202 | 190 | 330 | 204 | 63 | 174 ] 492 |28.5 50
Note:The above date were tested acccording to the noise measurement method of GB/T2888 Blower and Roots blower ZW-204 ] 265 | 400 | 230 | 76 | 187|492 | 20 63

TR



N

= X

ZHANG GU

ZW F5 =T R KN ERFENINEEERTE
(IEFERIF)

Belt Drive ZW Series Three-Lobe Roots Type Blower Packages Outline Drawing
(Pressure Application)

Inlet 'ﬁ
‘ 5 HEREE
Relief Valve
- — ]
| i ) Pregujrjeicauge
—_—— /
- = #4
N Discharge
pu
B
L4
E+EF'2 ; /& (2w smA/iLozeﬁm/ms) (ZW—GIl]A/IiOQQ/IIQA/EI(S) L1
T o " MR
Anchor Bolt L2 (ZW-303,/305/306,/406,/506 /508A)
L
L3
HAO%LRF BHELTEAAER BB
Outlet Flange Size Anchor Bolt Hole Arrangement Diagram “Anchor Bolt Type
N D1 e S—MxMxN
) E ~ _ ﬁ} ~ B EE RAAE S A
Em— I Blower Type Anchor Bolt Type
\ X X 7W-303 M12x250
Ny | | | 7ZW-305 M12x250
H‘ ZW=306 | M12x250
£QS ! ! X IW-406 | M12x250
- - T - ZW-506 | M16x300
P2 Rt LA 2 R (DH-610/709/T12A/816) | (DH-610A/709/712A/816) ZW-508A | M16x300
PAHDZERT - RS E2RA ' ZW-610A | M16x300
Blower I(nIAetIl;I;mge Size Blower Inlet Flange Size 12 (ZW-303,/305,/306,/406 /506 /508A) 709 M 1Ex300
A DNt D3 IW-712A | M16x300
D2 ZW-816 M16x300
o
. EI 7o
& n-di n—di
]
EQS

& AEFETHOHFB

PABS | o | g | E [Flomef J | K| L|L1[L2|L3|L4|H [H1|n=d|ON|D1] D |S| M [N [N kel
Blower Type A1|A2|B1(B2|D2|D3 n—d]lm“vzﬂlnsﬁ)
7W-303 [170]140(387[14]545[102]|221] 730|110 [510]810| 0 [145[350|4-918 50 [s125 |15/ 4 |120]400] 50 [100{ 80| 75 | 60 4-M0| 85
7W-305 [170]150(387[14]550(102]|221{ 730|110 [510]810| 0 [150|355 |4-918| 65 |145 |s185| 4 |120]400] 65 [110{110] 80 | 80 40| 95
ZW-306 [170]150|387]14|550] 113 [247] 730|110 [ 510|810] 0 |150{355 |4-418 | 65 |s145 4185 4 [120]400] 65 |110]110] 80 | 80 4-M10| 100
ZW-406 [180]180 (417 [14{650] 111 [250( 795 [112.5] 570|875 19 |165 400 |8-418 | 80 [s160|s200] 4 [120]400] 80 |152[152]100]114 4-M2| 145
ZW-506 [220]180(470[20] 740[125]295( 910 125 |660]990(39.5[190 [475 | 8-418 |100 |#180 |#220| 4 | 150{500{100 {180{135|130| 80 4-Mi6| 200
ZW-508A |220[200]470(20] 815]125|295] 910 {125 | 660|990 |39.5] 190 |475 | 8-918 |125 4210 |s250] 4 [150{500]100 | 180/ 180|130 130 4-M6| 215
7W-610A |260[220(545|20[880| 215]360 [1020{ 110 [ 400 1100| 66 | 225|580 |8-922{150 |s240|s285| 6 | 150(500{ 125 250(210(8-M16| 340
7W-709 [310]220[590(20[ 980] 215|385 [1255 |127.5] 500(1335(87.5| 235|660 8-622 [150 [s40[s285] 6 [150]500]150 | 200] 200 150{ 150 4-N20| 470
ZW-712A |310]250{630 [20[1000] 196]402 [1255[127.5| 500[1335 [87.5] 235|660 | 8-822 | 200 4295 [#340] 6 | 150(500] 150 285(240(8-M0| 500
ZW—816 |356(250(740 [20[1091| 300(455 [1320| 160 | 500 (1400{77.5| 262 | 774 | 8-922| 200 |#295 |#340| 6 | 150 |500| 200 340(295[8-M20{ 735

ZW F5 =T RN ERHENIMNEZZRTE
(E=RR)

Belt Drive ZW Series Three-Lobe Roots Type Blower Packages Outline Drawing
(Vacuum Application)

nlet] # 160 84.5, 120
" # o St E’%ht Pi
c W 3h4L Inlet g Blower raight Fipe
=
: A1 #5
R Discharge
: - - o
i g, | *
g Y,
| [BLF) ] =
=R r"
B
212 H14 485 115
| 300
Dmax 15
4-M12x250 /
Anﬁg@o%%olt
HHRATEIAER
= N Anchor Bolt Hole Arrangement Diagram
#. $ADEERT #. $AOEERY
Inlet & Outlet Flange Size Inlet & Outlet Flange Size 4-120x120x400
ZW-202 ZW-204 Sel B B
#1125 - E}
Rcl1/4 ! !
o~
&
I I
5§ B-—-—- 8
485
HAEE (K AR
Blg‘/v;bel'r& T%;pe A | B | C| D |Emax| H1 | H2 |unit Weigh(t (\%xgut Motor) )Kg
IW—202 | 204 | 63 | 174 |492 |28.5| 374 518 47
ZW-204 1230 | 76 | 187|492 | 20 | 470 592 60

245 246

ZIREMA



N

= X

ZHANG GU

ZW F5 =T R KN ERFENINEEERTE
(E=RA)

Belt Drive ZW Series Three-Lobe Roots Type Blower Packages Outline Drawing
(Vacuum Application)

3 #
Inlet 3: B Rl Inlet
Motor Blower
uF
K | @ e = g Straight Pipe
I ; ) T~ —1 I
! \:. =
i LN
v:i_\L D |l _®_ i i
¢ i | ul —
: J/@ —" _/@Li‘:b= ; ] . Discharge
J u T
E f £ L2 L2
) i (ZW-6108/709/712A/816) | (ZW-610A/709/712A/816) |L1
Gmax “Anchor Boll. L2 (ZW-303/305,/306,/406 /506 /508A)
L
L3
#. $AORERT SRR TE A EE BRI
Inlet And Outlet Flange Size Anchor Bolt Hole Arrangement Diagram Anchor Bolt Type
D1 S-MxMxN
DN FHEY | ABEEAHE
+ _ _ $ _ _ Blower Type | Anchor Bolt Type
D =+ $ ZW-305 | M12x250
! ! ! ZW-305 M12x250
" ZW-306 M12x250
e IW-406 | M12x250
I I I
EQS ZW-506 M16x300
[] _ — _Eil_ - _ _E} ZW-508A M16x300
IW-610A, I7-(129 T12A/816 IW-610) I7-029 T12A/816, LH-610A M16 % 300
(-1 08/MABI)_|_(O¥-610A/ 1012416 ZW-709 | M16x300
IW-712A M16x300
L2 (ZW-303/305,/306,/406/506 /508A) waie T M16x300

SRS A B E|F|Gma J | K| L|Ll|L2|L3|L4|H [HI|H2H3| n=d|DN|DT | D |S| M N:s':wv':f:“f)
ZW-303{170 [120] 387| 14 | 545 [102 | 221 | 730 | 110 |510{ 810 | O |145 | 350|160 [632|4-018] 50 |@125| 8165 4 | 120 [400| 80
ZW-305[170 {120 | 387| 14 | 550 | 102 | 221|730 | 110 | 510|810 | 0 | 150 | 355|160 |637|4-018| 65 |#145|@#185| 4 | 120 |400| 90
ZW-306[170 {120 | 387| 14 | 550 | 113 | 247|730 | 110 | 510(810 | 0 | 150 | 355|160 |637|4-618| 65 |#145|#185| 4 | 120 |400| 95
ZW-406 {180 {120 | 417| 14 | 650 | 111 | 250|795 [112.5| 570| 875 19 | 165 | 400|180 [692 | 8-#18| 80 |#160(6200] 4 | 120 |400| 130
7W-506 | 220|120 | 470| 20| 740 [125 | 295|910 | 125 | 660| 990{39.5| 190 | 475|180 |692| 8-#18| 100 |$180 |#220| 4 | 150 500 190
ZW-508A] 220 160 | 470| 20 | 815 | 125 | 295|910 | 125 | 660| 990 |39.5| 190 | 475|220| 877|8-918|125 {8210 |#250| 4 | 150 |500| 200
7W-610A| 260180 | 545| 20 | 880 | 215 | 360{1020] 110 [400[1100| 66 | 225 | 580|220 982|8-922| 150 |#240|#285] 6 | 150 [500| 310
ZW-709 | 310 |120 | 590| 20 | 980 | 215 | 385(1255[127.5|500 |1335|87.5| 235 | 660 | 220 [1042| 8-822| 150 | 8240|6285 | 6 | 150 [500| 440
ZW-712A] 310 {180 | 630 20 | 1000 | 196 | 402 [1255[127.5/500(1335|87.5| 235 | 660 | 250 [1077| 8-#22| 200 | 6295|8340 | 6 | 150 |500| 480
IW-816 | 356 |120 | 740 20 | 1091 | 300 | 455[1320| 160 | 500(1400|77.5| 262 | 774|250 {1171 | 8-¢22| 200 | 6295|6340 | 6 | 150 |500] 700

ZW 25 =M ZRE M NEEIAMERIMEREZRTE
(IEFERIF)

Direct Drive ZW Series Three-Lobe Roots Type Blower Packages Outline Drawing
(Pressure Application)

l@.iﬁﬂ. B&t\lﬂér Inled ig\‘( A rﬂj ) Inlet] IE llﬂ‘ElﬂﬁE
N\ =\ N o
Motor @ K J A B Relief Valve
bt &
4 | a = P : B A&
| — 4 Pressure Gauge
T - - —| - |- — =y r
N et o T T | %
lﬂ-h,—m Wo . Discharge
i L
L2 L2 L1 '
SRR (H-610A/708/T12A/816) (N-610A/708/712A /816 .
Anchor Bolt 12 (ZW-303/305,/306,/406 /506 /508A)
L 1
(Lmax)
SRR AA
SHHERTEAAER Anchor Bolt Type

HAOEERY Anchor Bolt Hole Arrangement Diagram

Outlet Flange Size L2 L2 RAAE & SRR

Blower Type Anchor Bolt Type

ZW-303 M12x250
] _ EH R _E} ZW-305 M12x250
- ZW—-306 M12x250

1| S—MxMxN | ZW—406 M12x250
' ZW—506 M16x300
ZW-508A | M16x300
[ , [ ZW-610A M16x300
[ _ I ZW—709 M16x300
I_} E [} IW=712A | M16x300

Blower Inlet Flange Size ~ Blower Inlet Flange Size
(AR

Al DN1 D3
I B1 ! 02
5 )
a4 n-d! n—df
& A \ R
EQS i AEHRFTHOFF H
B&E%i AlB|E|FlG|J]|K|L|LI[L2|tmx| H|HT| P| Q|n=d|DN|D1| D [S|M|N]|oNi| 1| A2|B1|B2|D2]|D3|ndl m?:ééjfgg;
ZW=303 [170[140|387]14|504 162 [167 | 680 | 85 | 510780 [145|350[211.5]153.5| 4918 50 | 125|165 4 [120 |400] 50 80 [100[ 60| 75 o] 8
2W=305_[170[150 |387]14|504|177 [182 | 680 | 85 [510|780 [ 150 355[115] 1635|4918 65 | 145 |g18s5 4120 [400] 65 110 110[ 80 80 4-wio| 95
2W-306_[170[150|387]14]504|191 [197 ] 780 | 110 | 510] 977 [150{ 355[ 212 [149.5] 4-918] 65 [ 145 sre5 |4 [120]400] 65 [110]110] 80 80 4-Nto| 100
ZW—406_|180[180 |417 |14]534| 217 | 228 845 [102.5] 6401080 165 400 216 [157.5[8-918] 80 |s160]gz00] 4 |120[400] 80 [152]152]114]100 iwi2| 145
ZW=506_|220]180 [47020]590]235 |250| 910 | 85 | 740]1114 190 [475(275 | 215 [8-918 | 100 | s180]s220] 4 |150|500] 100135180 80 |30 416|200
ZW-508A |220[200[470]20[ 590|262 | 273|910 | 85 | 740[1195 190 [475] 275 215 |8-918[ 125 10 g250] 4 |150[500[ 100 180]180[ 130|130 4-N16| 215
ZW-610A |260[220[545]20]685[332 331 [1100 130 420[ 1465 225 580 300.5( 230.58-022] 150 |s240 9285 6 | 150 [500] 125 250(210[8-W16| 335
ZW=709_|310|220]630]20{762 |345 | 357 [1260 130 | 500]1570| 235 660] 324 | 258]8-922] 150 |g240 [g285] 6 |150|500] 150]200] 200[ 150150 420|440
ZW-712A |310]250]630[20[762|377 [373]1340[ 170 500[ 1667 | 235|660 | 324 | 258[8-022] 200]s295|s340] 6 [150[500]150 285(240[8-M20| 470
ZW=816_|356]250]775]20] 915 [432 | 444 1485 [142.5] 600 1902 262 74] 427 | 357]8-922] 200]sa5 |g340] 6 [150]500[200 340[295[8-N20] 705

247 248

TR



V) = &%
A yiani Eu 549250

ZW 25 =HZ = KN BBIKMENIMEZERTE
(BE2RiF) ZSH RIBHR | EEx

Direct Drive ZW Series Three-Lobe Roots Type Blower Packages Outline Drawing

TR

Vacuum Application H
( pplication) ZSH series Roots type blower/vacuum pump
KA # * Inlet mem N,
5 =
Blower Linlet FEaaf@i
' " J .
B K rY N Product Introduction
Motor, \ -
e ? a = e Strﬁui %;t b ZSH-V.ZLB ZFBFFTHBRETR, ERARLT LB (FEREENSHEMECIE () EBRRWIEE) 5 (F
| ! E BEREENZREN. E=RAEHE) MINEFRRA, BLRISIHINBZA RR R REZNNSTHEWEM £, &
—t - - == o —
I = " BRATIENHFENIRIT. #IERE, #HTEERRNFT AR TASETSTRETR.
I R 5
\ - I a \i/ Discharge ZSH-V ZLB series single stage dry Roots vacuum pump is using my company's proprietary "backflow device with multi-blade impeller
T positive (negative) pressure blower Structure" and "Roots blower with a countercurrent apparatus , vacuum pump new structure, "two patented
technologies, learn from and absorb the introduction of Japan's advanced RR series Roots blower based on the structure, combined with our
L2 L2 L1 nearly four decades of design and manufacturing experience, independent research and development of next-generation single-stage dry-type
|
R (ZH-G10A/709/712A/816) (ZH-610A/709/1124/816) high vacuum Roots vacuum pump.
Anchor Bolt L2 (ZW-303/305,/306,/406 /506 /5084)
L
(L ) = F
e iR
Product Features
R
Anchor Bolt Type
HEREFEAAEE o RAUMKESFZMERN A, SMRIHTHGHE.
Anchor Bolt Hole Arrangement Diagram &ﬁ%ﬁe iﬁﬁ?ggﬂyﬁ . ﬂ‘l‘EAW;;#iy}k:s‘l'E'JgA#Uf% 7;2? : =
. HAORERY L2 L2 ZW=303 | M12x250 SRR A
Inlet And Outlet Flange Size 7W-305 M12x250 o XEFHMINTHES, RIETREEFR.
] _ EH _ 117 ZW-306 M12x250 o BEFES, REEEE/. REEBHE: 2.9~1945m3/min, HFE: -49 ~-78.4kPa,
ZW-406 M12x250
S—M xMxN /W-506 M16x 300 ® The use of counter-current devices and many other patented technologies, advanced and reasonable structure design.
' ZW-508A M16x300 Usi iallv desianed impeller cl ite cable. and high effici
W | | ZW=610A M16x300 e Using a specially designed impeller clover composite cable, and high efficiency.
/W-709 M16x 300 ® The key components of high precision machining, to ensure smooth running vacuum pump.
|
A | B E _ _E ?\’IVV:781126A m g iggg e High vacuum, flow coverage. Flow Range: 2.9 ~ 194.5m3/min, vacuum degree: -49 ~-78.4kPa.

m ]
NeEE (kg) ; lﬁ\
( Mm? EO

PAEG | AIBIE|F| G| J|K|L|[LI|L2|max|H | H1|H2| P | Q |[n—d|DN|D1| D [S|M|N |(AE

Blower Type Uit eight (k9

ZW—-303 [170]120|387|14 | 504 [ 162 | 167 | 680 | 85 | 510 | 780 | 145 | 350 |160 (2115|1535 [4-018 | 50 {9125 165 | 4 [120] 400 | 80 Product Use

ZW-305 |170[120 | 38714504 |177 | 182 | 680 | 85 510 | 780 |150 | 355 |160 (2115|1535 [4-918 | 65 |g145 |p185 | 4 |120] 400 | 90 - — . . o
ZW=306 [170] 120| 387| 14 | 504 | 191 | 197 | 780 | 110 |510 | 977 [150 | 355 [160 |212 [149.5| 4018 | 65 |#145 |1a5 | 4 [120| 400| 95 [TZNFTE RERRK, K. Gk RESHEEX. VIEEEFTIL.
ZW-406 1180120 | 41714 | 55+ 217 228 | 845 | 1029) 6401080 | 165 | 400 |180 | 216 [157.58-418 | 80 |o160 |9200 | 4 |120 | 400 150 Widely used in power plants vacuum ash, cement, smelting, vacuum pneumatic conveying, V France foundry industries.
IW—-506 |220[120(470{20] 590 | 235| 250|910 | 85 | 740 | 1114 {190 | 475 |180 |275 | 215 [8-618 {100 |#180 s220 | 4 [150| 500 | 190

ZW-508A | 220(160|470( 20| 590 | 262| 273|910 | 85 | 7401195 [ 190 | 475 |220|275 | 215 [8-418 [125 |9210 250 | 4 [150| 500 | 200

ZW-610A | 260| 180|545 |20 685 | 332 331 {1100 | 130 | 420 | 1465 | 225 | 580 |220300.5|230.5(8-622|150 | #240|¢285| 6 {150 | 500 | 310

ZW=709 | 310{120 (630 | 20| 762 | 345| 357 |1260| 130 | 500 | 1570 | 235 | 660 [220|324 | 258 {8-#22|150 [¢240|g285| 6 |150| 500 | 415

IW-712A | 310 (180|630 20| 762 | 377| 373 |1340| 170 | 500 | 1667 | 235 | 660 [250|324 | 258 |8-622 (200 |#295|9340 | 6 [150 | 500 | 450

IW-816 | 356(120 [775|20| 915 | 432 444 |1485(142.5] 600 | 1902 | 262 | 774 |250(427 | 357 [8-922| 200|295 |0340| 6 |150| 500 | 670

&[] H 5%



